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1 852021128 1.5.3 Monekynsipaas 6uonorus 5(94) 5(86) 4 (84) 5(92)
2 852021130 1.5.3 Monekynsipaast GHonOrHs 4 (69) 4 (69) 5(86) 5(90)
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1 852021125 1.5.4 buoxumus 4 (75) 4 (80) 4(75)
2 852021129 1.5.4 broxumus 4 (84) 4 (85) 5(90)
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1 852021126 1.5.6 buorexHonorus 4 (84) 4 (69) 4 (85) 5(92)
2 852021127 1.5.6 buorexHonorus 4 (84) 5(87) 5(89) 5(95)
3 852021131 1.5.6 Buotexuonorus 4 (84) 5 (86) 5(89) 5(96)
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852021123 1.5.11 Muxpobuonorus 5 (96) 5(97) 5(97) 5(95)
852021124 1.5.11 Muxpo6uonorus 4 (84) 4 (72) 4 (84) 5 (86)
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1.5.8. Maremaruueckas 3 (61
852021132 6uonorus, GuonHdopmMaTHka (Gh) Hedlha rerta e
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1 852019101 1.5.6 Buotexnonorus 5 (90) 4 (83) 4(79) H/a
2 852020113 1.5.6 buotexuonorus 5 (90) 5(92) 5(99) 5 (96)
3 852020114 1.5.3 Monekynspaast OHOIOrHs 5 (87) 5(92) 5 (86) 5(100)
4 852020120 1.5.3 Monekynapnas 6Honorus 5 (87) 5(92) 5(91) 5(90)
5 852020112 1.5.4 broxumus 5 (90) 4 (76) 5 (86) 5(95)
6 852020116 1.5.4 broxumAs 5 (87) 5(92) 5(92) 5 (90)
7 852020117 1.5.4 broxumust 5(87) 4 (83) 5(88) 5(98)
8 852020118 1.5.4 Buoxumus 5(87) 5(92) 5 (100) 5(95)
9 852020111 1.5.11 Muxpo6ronorus 5(87) 5(92) 5(89) 5(95)
10 852020115 1.5.11 Muxpobuonorus 5(87) 4 (83) 5(89) 5(90)
11 852020119 1.5.11 Muxpobuomnorus 5(90) 5(92) 5(88) 5(87)
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1 852019102 1.5.3 MonekynspHast Ononorus 5 (90) 5(95)
2 852019108 1.5.4. bruoxumus 5 (90) 5(92)
3 852019106 1.5.4 Buoxumus 5(95) 5(95)
4 852019103 1.5.6 buotexnonorus 5 (90) 5(95)
5 852019104 1.5.11 Muxpobuonorus 5(95) 5(100)
6 852019107 1.5.11 Muxpobuonorus 5 (95) 5(92)
1.5.8. Maremaruyeckas
7 852019121 ouonorus, GuonHdopmaTHka 5 (90) 5 (90)
8 852019122 1.5.4 Buoxumus 5(95) 5(90)
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1 104201896 1.5.3 MonekynsipHas 6uonorus 5 (88)
2 104201898 1.5.3 MonekynsipHas 6HONOrus 5(100)
3 104201895 1.5.4 broxamus 5 (88)
4 104201892 1.5.4 buoxumus 5(95)
= z =
o £ E=c sEEx
4 © = = 4 v g =
@ - I 9@ o =
Za = B Zgex
g = g m g o = u k-
5 5 = & e E 5
= g =22 53 £z
5 E &g 3B Z a
- = m
- =
Car, ,./
1 104201893 1.5.6 BHOTeXHONOTHA /o) 5. 5/(95) 0~ 5(87) 5 (96)
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